


4lb = 





  7lb 





10 kg = 





2.2lb = 1 kg








0.5kg =





4 kg =





11 lb =





3 kg = 





4cm = 





  9”





10 cm = 





1 inch  = 2.5cm








1” = 2.5cm





0.5” =     





4” =





11 cm =





2 feet =    cm 





2 litres = 





  9 gallons





0.5 gallons = 





4.5 litres = 1 gallon








1” = 2.5cm





9 litres =     





2 gallons =





11 gallons =





1 litre = 





  7.5miles=   km





2 miles =   metres 





24 km =





4km =





16 km =     





5 miles = 8 km








1mile = 1.6 km





0.5 miles = 





10 miles = 








